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Review for PC #2 - Unit 1

Solve each inequality and graph its solution.
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Translate‘the words into an inequality and graph. Then find all of the choices that would have this

graph as a solution. d) O+ 7 4 < Mx+9H

7) A number is at least —3. R X > -~ 5 ( Y "’l)l
A) x+232-4(x-2) - ;-- 2 £ y4g
B) 2x+T7-xz2z2x+4 - _C)
(C) -6x<18 resemme
2(x+1)s3x+5 ?) Y
X2-3
MNP L) 2a Tty ) b g
o - > ‘ i
Dy 427 > c _);-i—“l :iw Y (4,) Ly
23,225 EER Y X2 -3
DX > -6 =
X2 -3 325

X<3



Solve each compound inequality and graph its solution.
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12) The French club is sponsormg a bake sale. Iftheir goal is to raise at least $140, how many pastries must
they sell at $3.50 each in order to meet that goal? Write and solve the inequality.
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13) Four times the quantity of the sum of a number and-15 is at least 120 and no more than 165. Write and
solve a compound inequality to find all possible values of x.
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Write an algebraic proof for each equation. 9 < X Y /: L“«lr‘:’»’
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